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def f(n):
E= K1)
1f x ==
return n
else:
y = (2)
return (3)
FIRFE R Bob i HEAL nl R AR A
On % 10 @n // 10 @y + f(x) @y + f(n - 1)
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11. 5 F Python FEFF B :
import random
a=1[235,8,10,10,10,17,19, 20]

key = random. randint (1, 30) # BEHLA ], 30] 2 [8]) ()R 2L
1,31 =0,9
while 1 <= j:

m=({+]j) // 2
if alm] > key:

j=m-1
else:
1 =m+ 1
print (j)

PATZREFEL,  FAE IR 2
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import random
q=[0] *5
head = tail = 0
for i in range(5) :
if random. randint (0, 1)== 0:
gqltail] = random. randint (1,9)
tail += 1
elif head !'= tail and q[tail - 1] < qlhead] :
q(tail] = qlhead]

head += 1
tail += 1
PAT R BS, q MIEAATHER
A. [0, 0, 0, 0, O] B.[5, 4, 3, 2, 1]
0. 16 8.3 0, 0] D.[0, 5 6, 0, 0]
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# 5 N 2 AL S

@app. route ("/s”)

def index( ):

# B 17 R AR B

id=request. args. get (“id”) #RE B GE 2w AL AL I 2% D
t=int (request. args. get ("t”)) s3I At 2 v A% 11 i RE B
d=

s="insert into da(id, tem) values ( “+id+”", “+str(d)+ ”)”
cur. execute(s) 1 B R A 3 B s % b

B L e R E A QA g
return ~ok”
if name == " main
dpp run (host="192. 168. 0. 17, port=8080)
(3) e BRI, # BAEgS id A 1, BAEEIE « v 72 B, T E 6 5 20 Hdks 3 ik
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FasWIURL N (Hik, HFRp)

A.http://192. 168. 0. 1. 8080/index?id=1&t=72

B. http://192. 168. 0. 1/8080:s?id=1&t=72

C. http://192. 168. 0. 1:8080/index?id=1&t=72

D. http://192. 168. 0. 1:8080/s?id=1&t=72
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{1 W 4% 7 1 hn A G mﬁ@ﬁmﬂﬁhi o (VE: [RIEMm, —HUE#E 1 49
14 /NRWEE LA R S i aE R B, DRAFAE “T14. x1sx” XfE, W 14 G
W a s, At &t AR FERBRA D S, 985 Python F£, & s 14
W b Pk,

A B C D £ F MM 17¢UEF 18-34% 35-59% e JilL |

2 | | WAN 18.57% 18.93% 41.86% 20.63%

1 i | R | 17HLLF | 18-34% | 35-59% 1605 BLAL | frMili 18.04X 18.60% 41.26% 22.10%X

2 b HMbX ‘1301949] 1495943 2585473 | 1581 5?3 B0 15.67% 19.03% 38.30X 27.eeX

Il 15.42% 18.06% 40.21%  26.30%

3 i, #elis R _ 64379 { 32003 165_631? 107205 | WMl 18.01% 21.18% 37.65% 23.16%

4 twuih| 9<8 64466 | 87487 | 189799 | 111011 ‘ BT 19.33%  20.19% 40.96% 19.51%

8 —t —— 1 MMN 14.45% 19.06% 39.45% 27.94%

63 BRkih| PouE | 36476 | 37740 | 89164 ' 37"7’-'-1 | MM 14.11% 18.82% 39.74%  27.32%

2| 32140 | 1 4710 | Bl 11.42%  15.28%  42.32%  30.98%

o L1 L1 El A= = %' 1 s 1 ? t 33003 I Bl 16.84% 18.14% 41.14% 23.88%
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A. df. groupby ("Hiili”, as index=False). count ()
B. df. groupby ("Hiii”, as index=False). sum()
C. df. groupby ("#ii”, as index=True).mean ()
import pandas as pd #r%5#55750
import matplotlib. pyplot as plt
df = pd. read excel ("T14. x1sx”)
dfl = @® #OUF SR M T AS R4S B B
print (" 7 17 %LLF 1834 % 35-59% 60 % MLLLE")
# “df1. values. tolist () 7 SCHLKF df 1 ¥4y —4E8) K. SIRPEENICELT 5 M
BYEIOL, o3 D0k N T 4 BRIz T 4 ADNMERRBONECS A, W ek, 501421, ... ]

df2=df1. values. tolist () i1 BB H605 L E AR KIS A OO
x,y = [], [] -
for area 1n df2: -
for ¢ in range(len(area)) : -
if ¢ == 0: :z ‘lI (II
x. append (area[0]) "
print (area[0], end=" ") - . .
else: # 14 18 c
sm = sum(areall:]) #tsum bR B SZIRN 8 2Kk A

t=__ @
print C%. 2f" %(t), end="% ") A R A
1f ¢ = 4:

y. append (t)

print ()
plt. title ("HFILAE &l 60 & UL E AB S A i & ACTEEBI”, fontsize=24)

AR « F a4l (3L 14 1)




plt.bar(x, y)  #2:M 60 & LA b AN B A i &N 21 Bl 1
REZZEZE, SR 14 8 ¢ PR, RRSHE .
(2) M 14 8K c &, 60 % K&LLEANK S A 1T A E )it 25%I'1’JHLrﬁﬁ_’l‘u
(3) ZMR%%S mygroupby bR ECHILSEEL Bk 43 890 S ThfiE, F S &M AEEBERMA
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#df1 N 4ip 3, SR CELT 6 NI, ABEWEE 14 B a ik REGR
M dfs BEQEE (1) - 4E% % df2
def mygroupby (df1) :
dfs=[] SO AN AR dfs
for row in dfl:
(1)
1f n>0:
for j in range(n) :
if row[0]==dfs[j][0]:
break
if n==0 or rowl[0] !'= dfs[j][0]:
dfs. append ([row[0], 0, 0,0, 0])
j=n
for k in range(2, len(row)) :

@

return dfs
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mt, i, n=[], 1, len(d)
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while i<n:
while i<n and d[i]<=d[i-1]: #®
1+=1]
st=1-1
while i<n and d[i]>d[i-1]:
1+=1
if 0, ;
continue ek ARCTRIS, RIS MREHIT F—RIEH
while i<n and d[i]<d[i-1]:

1+=]

In=1-st

if len(mt)==0:
mt. append ([1n, st, -1]) g mt BN — PR ICE
head=0; g=head

else:

p=head
while p!=-1 and ®
q=p
p=mt [p] [2]
1f p==head:
mt. append ([ 1n, st, head])
head=1len(mt) -1
else:
mt. append ([ 1n, st, p])

®

if len(mt)==0:
print " AN{FIEFIE")
else:
print ("4 45 8 (K PG Fha~45R FR) )
p=head
while p!=1:

print (mt[p] (0], ”:”, mt[p][1],” ~", mt{p] [0]+mt[p][1]-1)
p=mt [p] [2] |
(4) fEH CLTACHS & e AL AXRS, AT/ DEER mt M5B (i, T
),

A. if mtlq][0]>1n: B. if mt[q][0]<ln:
p=mt [q] [2] p=mt [q] [2]
else: else:
p=head p=head
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